TR EE—REHPEOELEE

FREE B HAL (FM)
= == FHEE fi& %
FEMEZHAETEE 8,000(S56.5.31 LA - (LB Ot B I
FEMEREMREE 23,125(556.5.31 AR I dEEES M- (LB OTE Y E
FEMERERTEHDEE 5,125(556.5.31 LLATIC B ELS NI L E Ot ik
EEMEHEHBIE X (Bh) 4,625 |itELE, #EH T 2IT B O b
V9= IR REE A10| BT L 0 7 1t 2 IS DS I %4
Dy s = TRK2TE10 A RATOMAF 5% GBI O BERRL TS
BSHESATLARESER 42,541 1 Feirs 274 (- AR /AD T DA A X Sl 2B R
MR ER TN EFEE 101,221 | IR/ (T A D i
f P M SR ST (A A ShRER , (RSN R B R ORIE I
MAMR AR BRI ESEE 1,674 /gz’;yﬁ%@m,ﬁ2:@:573@%&@Eizﬂ%i%@ﬁw&l:%ﬁﬁ*%f:m(7)
AR,

VITATAREHREE 3,200 > =7 A T4 AT M — L DR (19 NHZ)
BOJIthREEF TN B HEEE 1,610 ELoo) I X AL F TR B LA At e FE A - S it
BHERERANIT4—HEESREEES 9,959 | FREHI X ~D YR — NEf
ERREE 5,563 |54 LICEMS D A OHAHC BT 2 28R

FEE | TRIMEREKERESREFESE 32,875 | & A OB BEAA ERR LA T2 THER 14

- = N BRBVE AN EE S ST NM B il 3 3 I AT bR SE IR LA A

FBHE | RERERESZEOGEBUEOVYEE) 6198|252 s | AT B - Aot T o< T2
RTIEBER 89,067 @%&@ﬁb:h”égﬂggﬂﬁo K THSE S R ET
RIGERHE (BM) 12,291 [ THBAR UL T %

EMKELE | SEMBEILRNEEE 8,223 |k » KR DOHMERFE BRI 6L TR,
—'%-,Iiﬁg*$¥%m%§éiﬁ$¥ 1’422 ;J/f‘/?"ﬁ'%y?/7011/%@5%)\“)‘(1"9‘—6 éﬁwﬁf&lzﬁ%ffﬂ%f\@*%
FEARIEEHES X 16,125 | B &R A2 F OREAITRT 25 BB ZAALE ~ D)
[ . i P SLBRYE  BEE T ) TR PR [T RS — S04 | [ 28 & 52 E Al

BIE | ZHNENEIEECEHEDS 8,065 11 e 2 iyt 2 R 2
kR ERMESHEE (ER-BENR) 26,100 [T OHERIE TR AR L2550
R B (B 2ENR) 15,000 |75t 8 2 Ul 3 CRUE O R B 72 A0 (AT 142 H1R)
HIRE | EDEATBHEEE 17,100 [543 FH 1 iB31 05 s B B8 T3 OV G
ké@%??@%fg%}@ ({%Eé%&) ‘;ﬁjéﬁgﬁzﬁ@%g&f
- 5 /J\i“}:a(ﬁ@Lﬁ e, — A R LTZ e 7 A‘ﬁ ET 57
RN BREEER 1058 i sy it 5% (%) 25 5,
O i AR S I EHE = 3 i B 4 (FHBh = 1/200N)
HEE Biﬁi@@%:%ﬁmtgﬁﬁ%ﬂﬁ&ﬂ@ﬁL:F‘ﬁa‘é%‘%
N - SRR
HAZ LRk (EAERER) :EEEE 10,663 -7?4&‘%1@%&%%5@\
AR ARERE B2 I S OB A
ERetos—BiEEE 700,230 |3 LA AL 2 — AR A4l - i S 0 Bt
IS
EEERBENTEE 18,908 |4 5 )5 R BR BRI 4> 4%
FRERMEFSIER TS 14,6707 5 G IRt - iR E R LIttt &
HEEGILRERSE 45,050 | bR %
RWKERE |MEMRF TISEHEE 30,050 ifi i B 5%
HELILERIRERSE 30,0501 ik L 5%
WEEERRERBE 30,050 | ik 2 4
MEARBREHRSE 25,0504t T %
BEERNAEEE 400,800 BT 38 H (i
HEERBHEREAIMNETE RHES) 180,500 | HT 78 % fi;
IXE |HE2EABRBRAOTHEZEWMRSD) 85,250 |3 5k
HEEARBRAXNEEE (EMEXE) 95,250 FHEIERL - 15 R 1EHE %
AT hERB KR EREE 30,0002 71 it ¥ i
(5) EFEESELY SERR2TAE S5 H 1 HFFT



